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1
Introduction

In last meeting, the CR for flow control was agreed in [1]. However it is still confused about the feedback desired buffer size. 
This paper would like to provide further considerations and proposals about the desired buffer size.

2
Discussions
It is confused whether the desired buffer size should be interpreted as the available buffer size (i.e. b in fig. 1) or the allocated buffer size (i.e. b + a in fig. 1). The inter-vender misinterpretation may be occurred.
Observation 1: the desired buffer size may cause inter-vender misinterpretation problem.

According to the current agreed CR [1], the desired buffer size is bound with the highest PDCP PDU sequence number successfully delivered in sequence to the UE. The possible intention of this is to deduce the data on the fly (i.e. c in fig. 1) and then the MeNB can know how much data it could send, which is the feedback desired buffer size minus the data on the fly. 
The data on the fly may be deduced by the last PDCP PDU sequence number sent by the MeNB minus the highest PDCP PDU sequence number successfully delivered in sequence to the UE. However, according to fig. 1, the result of this is c + a (i.e. the buffered data in SeNB which has not been sent to the UE is also included, but unknown in MeNB). Therefore, the data on the fly can’t be finally deduced.
Observation 2: the data on the fly can’t be deduced according to the current specification.
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Figure 1
For the purpose of deducing the data on the fly, one solution could be that feedback of the a in fig. 1, and another solution could be to feedback the last PDCP PDU sequence number receive by the SeNB.

Observation 3: in order to deduce the data on the fly, the solution could be that feedback of the buffered data in SeNB which has not been sent to the UE or the last PDCP PDU sequence number received by the SeNB.
Alternatively, if our final target is to make the MeNB to know that the available buffer size minus the data on the fly (i.e. b - c in fig. 1), then we can deduce it via (b + a) – (c + a), the (b + a) is the allocated buffer size for the relative E-RAB or UE, and the (c + a) can be deduced according to the above discussion.
Observation 4: if our final target is to make the MeNB to know that the available buffer size minus the data on the fly, then the feedback desired buffer size should be the allocated buffer size for the relative E-RAB or UE.
3
Conclusions
In this contribution, we further discussed about the confusion on the feedback desired buffer size, and have the following observations and proposals:
Observation 1: the desired buffer size may cause inter-vender misinterpretation problem.

Observation 2: the data on the fly can’t be deduced according to the current specification.
Observation 3: in order to deduce the data on the fly, the solution could be that feedback of the buffered data in SeNB which has not been sent to the UE or the last PDCP PDU sequence number received by the SeNB.
Observation 4: if our final target is to make the MeNB to know that the available buffer size minus the data on the fly, then the feedback desired buffer size should be the allocated buffer size for the relative E-RAB or UE.
Proposal 1: feedback of the buffered data in SeNB which has not been sent to the UE or the last PDCP PDU sequence number received by the SeNB should be captured in the specification.

Proposal 2: alternatively to proposal 1, the desired buffer size in current specification should be explicitly interpreted as the allocated buffer size for the relative E-RAB or UE. The corresponding CR is provided in R3-150249.
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